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SM2 Quadratic Graphs Test Review

For each equation, fill in at least two boxes in each row AND choose the letter of the graph below
the table that matches the equation.

Direction of Letter of
Op:tning Vertex yintercept Zer Curr::t Graph
2 "
I oy=(x+2) -9, =) =
- +V)Gvrlﬂt up 1) F
2 y=—(x-2y+9 B
v=—(x-1)(x-5) P:‘s c
Y faekresl
z-l
4. y=_(x+1)(x+5) , D
9:-8
|
5. y=x —8x47 A
!iﬂ‘rd
6. ‘v:szeri? E
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For each function, find the vertex and y-intercept of the graph. Show all your work!

7. y=2(x+3)" -7 8. f(x)=—x"+12x-33 9. y=2(x+8)(

x—2)

) &en s
verfex Form “Shandard focm ymt é?:.::%

j“‘{' y= 2(0133‘7- yul" A (+5)(0+Do)

-3.2
Letx=0 , - vertex
4= Il b =2 2 verkx
i-‘s 2(7') 4- Q-?"ﬁ“
i ()"t 12{6)-33

Vertex; ( -3 _,"1’) Vertex: (b) g 3 Vertex: ( 3\-5)

ks c” if in
standard form

y=-S

y-intercept: (O, “) y-intercept: (oa “§\ y-intercept: ’ é
U= 5(-2+8)3)
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Fill in the requested information. Then graph the function. Plot af least five points!

¥

10. f(x)=x"-6x+4
a= l b= -b c= “ | 4
rom:_Standard e
e > x
Direction of Opening; (73 ? u T1TL i p
Vertex; (3'. -5\ T N

is of : < 3
Axis of Symmetry xxg -& e ch.'J

Is the vertex a maximum or qunimum?_yp |'n v

Maximum o - 5 ¢ llJ 1 éi‘:i
\.J l -

y-intercept: ( 0, ‘f) vere Vertex % s

Ml’d FDI'M ;ts (0, C) B~
Show work here:
veriex -b b _3
26 200

4: Fo6G)+4=-3
ymt et x=0

y= 02- b(0)tY
1L y=-2(x+2)"+5 y
a-=2 p-=2 ;- 5 ;
Form; Vef"'fx

Direction of Opening; AW N A
Vertex;_ ‘.2) S )

(i

Axis of Sy‘I:Lmetry: xc -2

Is thet;ex ar minimum? mx
n@ S
y-intercept: (o ) "3\

mt ket x=0

y= =2 (0+2y+S

[ O L]

JSodex
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12. y= %{x—z){x— 6)

N U N
Form; -Fudor«\
Direction of Opening: QP
zeros. -, (o

€ % (m,2)

o (0,0)

y-intercept:

Show work here:

wh(g*‘l.\ 2+ 8 _
— 7 21
Y= S (y2y(4-6) =-2

I 1 (6-2)(0-6)
L { ¥=0D -,-_ (-13 (_‘o\
b

20
Vertex E =2,

S

L b

the y-intercept (as an ordered pair).

13, f(x)=x"-10x+21

Form; Sl'QV\dﬂrd
Zero(s): 3 ‘s ?'

X-intercept(s): ‘é’d> < }’0)

Sh‘o x:lk hgil a%_
X
e Jar)

(x-%\(x-‘!-) 0
X~ §~0 X%
X=3

For each function, do the following: 1) state whether the function is in standard, vertex, or
factored form, 2) find the zeros (x-values), 3) state the x-intercepts (as ordered pairs), and 4) find

14, y=—6x(x+7)

Form: 'FQC ‘DVQJ

"k ; O,
(0,60

Zero(s):

x-intercept(s):

Show work here:
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15. y=2x" —4x—34
s-yf €=~

2 b
o
Form: S"a'\ddra
Zero(s): t Ji '*gﬁ'
x-intercept(s): <4$ !2_!1- %

4 )
Show work here:

cLuad Formu lo
x= 4£Uc 4y -4 @3
2.(2) o
TRE

3y

16. f(x)=(x—-2)"+25
Form:__V@r1€X
Zeros): A &L
x-intercept(s): _NONE

Shom work et
O =(x-2) +25
-25= (X-ﬂt
1 - G2
s = x-d
150 = X°F

a‘:si Y,

Vocabulary

& Axis of Symmetry (What is it?)
T Equation of the Axis of Symmetry
j Factored Form of a Quadratic Function
L Maximum Point
h Minimum Point
K 2
2a
l Quadratic Function
L Roots
_A_ Standard Form of a Quadratic Function
R e
Q Vertex Form of a Quadratic Function

F x-Intercepts

F e

Write the letter of the definition that best describes each word, phrase, or expression in the
appropriate blank. One of the definitions will be used three times!

A.

w

o

©

]

=

@

=

7~

. The type of function whose graph is a

. f(x)=ar +bx+c, where a =0

The vertex of a parabola that opens upward

isthe [W}@y of the graph.

The vertical line that divides a parabola in
half. @S of

S(x)=a(x=h) +k where a=0.
Varkx th
The vertex of a parabola that opens

downward is the of the graph.

The set of x~values which make f(x)=0.

indicating where the graph will crgss the x-
ks e g

)
f(r)ia X-p (r—ﬁ).whereaal)

The point where the parabola changes
direction - the “tip” of the parabola. (h.k)
from the equation f(x)=a(x—h) +k.
where a=0.

. ;_" for a quadratic function in standard
"

form or x =/ for a quadgatic functjon in
vertex form. .‘“s-\ J

parabola. It can be written in standard form,
wvertex form, or factored form. .
e

This expression gives the x-coordinate of the
vertex of a parabola when the equation is
written in standard form.

-
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